I

TV PISY ) o

() S8 = l=2sin' B

It

st O g =D

(256 —1)(s-Bt1)=0

(z) P(XJ = 0\12+b)(+ C
Ploy=c =3
PClL) =0+b+cC = |
F(-[) :Q—b+C='7
c=2. a=l. b=-3

Pix) = a’-9ox+3
Play=4-6+3 =1
) \ = o= =08t
SZ‘Sj
24

§;-5L,'

s O

(]

Nl—
o)

N1 A

- = rL'



Kt 1% 2020 K

(on (1Y loo 99 I 43 -
.H— L!) [\D[ = (l"‘b.&[) = 'DQCQ I +l°.C] l ,‘b‘&l -f‘[obC?'[ xo'h( L S oo
= [+ [so<o.0l + [cm;ﬁ‘?,“p[a—‘“”
2 S o
tzy ) h=l a2
I
fiﬂ-——-] =) /’E_i?:.—2~l:2 I’1=Jmtfﬁ§t33

G) n=ka 2,
2t 2oRA R YT L RETT
B ) = PR
20BNk B )
= 2(R-1) 20

M=B Ry EITE n=RB+lott £ Ky L~
o) b9, SR BIERF) Ao BEE Nzt 27220 AR S

(ot ‘-
) fiﬂ: \D[ '._—_[0[
> 2” ( Cl\)
Zon (s E‘E.Lefli%_



At 1y 2020 K

I

(1)

(ab) Eh-2fh=mo Bz Y=mlr-a)+}
Shi Y= ZATL X m(x-a) +b

QTZL’Z X=X + Am-b =0 o )
Yex e Yemb-a)rhprdETic: 0 EBLionzn @ o Pl Dri

D = (m)—4(am=b)
= o Mam g =6 | @
@ o FMAE D¢ (=
Dz/: EM)Z—ﬂa =4qz—4é>o (+ H<o )
5z mo 3XATE R @ (9 9§53 200 Bafes Uhlo (ab)zda s frm
ARG T30 g U211 S‘Jeﬂf’%

& @2 B, wm=202%sdo4l = z(ai.la‘-b)

> 2(a+Je"p )x2(a-Ja5p) = - rb

4%—9/%%—1

I
L=—2 al:)/i,i..

. Po 8185 12 L=-£' =




